H & 0l & AHS B Ml A

20258 20ilaF LekalH M
A FAE =g
mm: QXixs
el |FASH (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SX et 19,397,038 26,321,087 6,924,049
= 3,237,500
= 16,159,538
SFAHEH 19,386,238 26,305,487 26,919,249
== 3,237,500
[Ea 16,148,738
=X 5,329,824 13,322,964 AT7,993,140
=X 32,124 25,364 6,760
201 Ler23 | 8,124 7,724 400
01 At2t2ltl 6,924 6,224 700
NGaEH S JMES 7 & =2
450,000 <22 900
NE=I] Xtz 56,0002 1CH* 122 672
NSIIEHI Lxg
66,0002 *1CH* 122 792
Nolesd Y= 22 M
900,000 900
Nolsd YRFA A
9,000 x5 & +682 3,060
Nolesd YR AMRES F2H
50,000& * 122 600
2 35284l 1,200 1,500 A300
NRERS 100,000& ~12& 1,200
202 04l 21,000 14,640 6,360
01 =LHAHI 21,000 14,640 6,360
Nolsd PRF& SO
60,0002 x5 »703] 21,000
203 =4l 3,000 3,000
03 A=A H R FZ| 3,000 3,000
DA & SHOIPRFX 3,000,000& 3,000
H=s8xd 329,700 2,580,600 A2,250,900
201 Ler23 | 109,700 97,000 12,700
01 At22t2lt] 101,700 47,000 54,700
NoEE LA EEES
2,700,000& 2,700
Nols8ZdAY 22 SMA
77,000,000 77,000
MEIRXY MLt 22,000,000& 22,000
2 S5=2g4l 8,000 0 8,000
Nolsd AE2S |2
8,000,000& 8,000
301 EtE N = 66,000 63,600 2,400
14 DBt 2 a3 66,000 63,600 2,400
Nolsd ZaMY SZIIEN B
5,500,000« 1H =122 66,000




2A:

X XH -
o=

=S
==

el FAE (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 Al HIZL 2018 154,000 2,420,000 2,266,000
01 Al&H| 150,000 2,420,000 22,270,000
DESECIREE== 50,000,000& 50,000
NezdeEiEd 50,000,000 50,000
NUlss RFUHESSA 50,000,000 50,000
03 Al 20HHI 4,000 0 4,000
DIGESSESS 4,000,000 4,000
BiCtel =2 3tAl 4 3,260,000 9,707,000 6,447,000
401 Al HIZL 201 3,260,000 9,707,000 26,447,000
01 Al&HI 3,250,000 9,700,000 6,450,000
NHIT 2StAIE =S 3,250,000,000& 3,250,000
03 AIZSTHYI 10,000 7,000 3,000
NHIT 2StAIE XS 10,000,000 10,000
20|02 (E2ERNY) 502,000 1,010,000 508,000
401 AIEHIZ SR OHYI 502,000 1,010,000 508,000
01 Al&HI 500,000 1,010,000 A510,000
N2EII0IET(BELRNL) A
500,000,000 500,000
03 Al 2CHYI 2,000 0 2,000
NZeo0s2(E2ERNY)AHE
2,000,000 2,000
dEDI0l=22A8 1,006,000 1,006,000
401 Al HIZ S OHbI 1,006,000 1,006,000
01 AlZ2H| 1,000,000 1,000,000
NEDI0I=2HE S A
1,000,000,000& 1,000,000
03 Al 20HHI 6,000 0 6,000
NZED|0I=2AESA 6.,000,000& 6,000
HedZ4(ERASAN(ER) 200,000 200,000
401 AlEHIZ 2 0HbI 200,000 200,000
01 Al&H| 200,000 200,000
1)2etARE MAEEX 100,000,000 100,000
NOIIA XI3BA 100,000,000& 100,000
=2 13,317,467 11,651,884 1,665,583
[ 3,237,500
T 10,079,967
SX2 36,998 18,044 18,954
201 er23| 22,938 3,444 19,494
01 At2tltl 22,938 3,444 19,494
NE230=d R A
9,000& *3H +543] 1,458
NelmUE |XNY 29 & JANH
20,000,000& 20,000




2A:

X XH -
o=

=S
==

el 2RAE2 (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
NAIREE 7 40,0008 * 12 480
NEEEs 7l 1,000,000& 1,000
202 04| 12,060 12,600 A540
01 2L AL 12,060 12,600 AB40
NES=YRFE JLHOI
60,0002 38 *67 2] 12,060
203 g4l 2,000 2,000
03 A=A =] 2,000 2,000
Nastolzs gRFa 2,000,000& 2,000
SOtAlOtI B0l =2t A E X J 113,240 64,840 48,400
101 @124H| 9,840 9,840 0
MU IIRINZZE2NSES 9,840 9,840 0
NOI=2HE AL JI2ZE22 X ol
60,0003 x2& »223] 2,640
DEVANEI(ESI=gell=-Ey Rrelkal]
600,000 «1H« 122 7,200
201 er23| 23,400 23,400
01 At2t2ltl 12,600 12,600
1)0l&2 XX 12,600,000 12,600
02 S3=4gl 10,800 0 10,800
N7EAA0IE2 HPY B3RS
900,000 *1JH =+ 123 10,800
206 M=l 20,000 25,000 /5,000
01 M= HI 20,000 25,000 25,000
NAE2S Mt 20,000,000 20,000
301 EtE NS 60,000 30,000 30,000
14 IIEt2 8= 60,000 30,000 30,000
NoI=2AHBAIY SZL=N 28|
5,000,000& «1H*12& 60,000
SOOI ESI 0| =24 A E (M EALY) 899,500 4,989,000 24,089,500
401 AIEHIX R0 899,500 4,989,000 24,089,500
01 AlZ2H| 896,500 4,030,500 A3,134,000
1)SOtAIOI A E S0 =2t A - ALY
896,500,000 896,500
03 Al 20HHI 3,000 11,500 28,500
1)SOAIOI 2 B30 =2t A ALY
3,000,000& 3,000
QIUERXSAHS (HEAIY) 6,870,000 2,820,000 4,080,000
= 2,748,000
[Ea 4,122,000
401 AIEHIX 20HH 6,870,000 2,820,000 4,050,000
=S 2,748,000
s 4,122,000
01 AlZ28| 5,734,221 2,514,000 3,220,221




2A:

X XH -
o=

=S
==

el 2RAE2 (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
NeLERXSHE 5,734,221,000& 5,734,221
= 2,293,688
= 3,440,533
02 Zcltl 1,115,779 300,000 815,779
NOITLUERNSHEY 22l
1,115,779,000& 1,115,779
== 446,312
o 669,467
03 Al 20HHI 20,000 6,000 14,000
NeTLERXSHE 20,000,000 20,000
= 8,000
= 12,000
Zotlilzal2AE 4,855,729 1,624,000 3,231,729
401 AIZHIX R0 4,855,729 1,624,000 3,231,729
01 AlZ2H| 4,219,729 1,284,000 2,935,729
NEstol=s 2 4,219,729,000& 4,219,729
02 2/l 630,000 335,000 295,000
NEstol=sl22E Zeld
630,000,000 630,000
03 Al 2 CHHI 6,000 5,000 1,000
NEstol=al22Ae AR
6,000,000& 6,000
SOtAlotI B0z 2 82 20,000 20,000 0
201 ger= 3| 20,000 20,000
01 At 2|l 20,000 20,000
1)SOotAlot A8 a0l =2 TR M&
20,000,000 20,000
SOOI H B2 A M ETH(EX) 492,000 0 492,000
= 489,500
= 2,500
401 Al HIZ 2018 492,000 0 492,000
= 489,500
Ea 2,500
01 A28l 489,500 0 489,500
1)SOotAIOI A B2t E A ERY
489,500,000 489,500
== 489,500
03 AIZ 2 THYI 2,500 0 2,500
1)SOtAIOII A B2 SR A ERY
2,500,000 2,500
QAILIERASHEZE M 30,000 30,000
401 AIEHIZ SR OHYI 30,000 30,000
01 Al&HI 30,000 30,000




A FAE =g
mm: QXixs
el 2RAE2 (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
NAIILUERKE A=28 NHES
30,000,000& 30,000
=Xa3 535,986 1,321,991 A786,005
=X3 522,986 497,858 25,128
201 fet=2 3| 5,506 146,458 140,952
01 AtR2t2|HI 5,506 143,208 A137,702
NEEHCINY YRFE ARES 7Y
40,0003 * 122 480
NEEMENE FRF8 A
9,000& x2H +572] 1,026
N 22 N 4,000,000& 4,000
202 048l 15,480 16,200 AT20
01 2L AL 15,480 16,200 AT20
NEEHENY RFE SO
60,0002 x2& »862] 10,320
NEEMENYE PRF8 SR I
60,0002 » 1 +862 5,160
203 HRP=H] 2,000 2,000
03 A= PR FAI| 2,000 2,000
NEEHENE ARFZX 2,000,000 2,000
401 Al HIZ S 0HbI 500,000 50,000 450,000
01 AlZ2H| 500,000 0 500,000
NEXHL 500,000,000& 500,000
et oltlesd 13,000 511,333 A\408,333
207 ARl 13,000 0 13,000
01 H1ESHI 13,000 0 13,000
NI 824 13,000,000 13,000
FAS AL 2t 202,961 8,648 194,313
S AL 2 202,961 8,648 194,313
101 @124H| 18,000 0 18,000
U IIRINZZENSES 18,000 0 18,000
Nolsd AlE2 380l LAIAMNS
150,000 x 15«83 18,000
201 et 3| 94,461 2,048 92,413
01 AtR2tc|Hl 34,710 1,048 33,662
JRAIARA |2l A28 2]
1,000,000 1,000
NHRFX AIRES 2
30,0003 x12& 360
Ngazg 37 7Y & MEY
200,000 *23] 400
DEES]:] 60,0003 »120& 7,200
1)==| 60,0002 x365& 21,900
NEgs 2| 200,000 22 400




2A:

=S

LR (ISE X
ol FASAIE 2] (EEEE))
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
NAIZ2e] HL2=X 0jAalH|
9,000& *x1H*503] 450
1)0ls& AIEE SXeE ARE 1|
3,000,000 3,000
02 SZ22ZH| 59,751 1,000 58,751
1)0l=4 S8I|22(300K)
1,000,000& 128 12,000
NEZE2NNY MRS
800,000+ 12& 9,600
1)OtEY IRl HIIR= 30,0003+ 12& 360
1N@EHelAlE EII22(200A)
700,000+ 12& 8,400
N2AZIAIRA JI|L2
400,000 x12& 4,800
N2 EA Mol=ER2
30,0003+ 12& 360
NS0 AoIEER 3
30,0003+ 12& 360
1N22ARE Molx=ERe2
30,0003 x12& 360
NZA2IAIRA Aol=ER2
20,0003+ 12& 240
1)OIEYIXl Aote=E=R2=2
25,0003+ 12& 300
NZASIAIRA TV Y HLD| A2
100,000& 128 1,200
NESIE 2 £H2(2MA)
300,000 +2 0 A #2& 1,200
N X2 (81 2066) KFSXHAI, EIIZAHI
150,000 = 1CH 150
1)HE X2 (81 2966) H2H|
1,540 x243| 1 CH*602 | E4 2,218
NH=D| Y AXE HSH| 500,000 500
NE=ZHAE A2 1,500,000& 1,500
1NZACIAIRA 222 H2H|
1, 3403 *33| x2J0 A +3002| E1 2,412
1)OIEYC|X| 2] HZH|
1,340 +33|*4002| & 1,608
NYIAS S48 S8 Pl
500,000& 500
1HE X (81 2066) S X2 2|
1,000, 000& =1CH 1,000
1)S2LI AL DA S S 83,000& 83
1)oHE Ols&AldE &D|eHAE &eld]
3,600,000 3,600
NE=EZMAE K22
2,000,000 *1CH 2,000




2A:

=S

=L RN ISE X
o2l FASAlIL2] (EEEE))
2 - IE!
SN - BB SRI(BIH) - NISAY - BES O]t e HlRE2
Nolsd AIE2 S22l
5,000,000& 5,000
202 (4t 6,300 6,600 A300
01 =LHO4 b 6,300 6,600 A300
DAlg 22| RFE UL
60,0002 *1H+573] 3,420
DAd 22| FRFA S22 I
60,0003« 12 +483] 2,880
206 =8l 4,200 4,200
01 M=l 4,200 4,200
DS ASAE 2|
50,000 60K 3,000
DNEFEHIE AN 22l
400,000 *33| 1,200
405 KHaHE S| 80,000 80,000
01 AL EFH S| 80,000 80,000
NEZ&es 24| 2|
60,000,000 *1CH 60,000
N2AD| SED1(F&H3, =D, EAH)
20,000,000 20,000
AHE2HZH (RS0 10,800 15,600 24,800
JlE2al 10,800 15,600 24,800
J|1E23&| 10,800 15,600 24,800
201 2| 1,560 2,400 AB40
01 Ar22eltl 1,560 2,400 A840
NEM2E AREE & A2F 2¢
120,000 13 1,560
202 04d| 6,240 9,600 A3,360
01 =LHO4 b 6,240 9,600 A3,360
NEA2ZE I
60,0002 11«83 5,280
NEMEE S22 IO
60,000 x2H +83| 960
203 YR F=&IH| 3,000 3,600 A600
M FA2LHRFAHI 3,000 3,600 AB00
1)15210| 5t 250,000 123 3,000




